












Not Achieved exemplar for 91507 2014 Total score 02 

Q Grade 
score Annotation 

1 N2 

This candidate did not communicate in English some of the straightforward 
sections in part (a), struggling to interpret the Latin inflections or the 
connections between the words. In the other parts of the question, some 
points were understood, but the responses were partial and lacked the focus 
of the question. Part (d), scansion, and part (e), grammar, did not show the 
accuracy required for the award of Achievement. The response in part (f) 
identified incorrectly the first poetic device and then did not explain three other 
devices. 

 

 




